Y
(N 182)0 40 80 %)
| 72.5
| 65.9
33.5
31.3
30.2
24.2
]2.2
0.5
0.5
72.5 65.9
33.5
i 1 67.2
| 75.7
1 67.2
[65.2
T
33.0 o
34.3 N=67
Elzg.e o
67.2 : 22.4 N=115
i 34.8
0 40 80 )
75.7 10




0
(=180 20 40 60 ()
|44.0
40.7
36.8
34.6
29.7
[ 2.0
17.0
4.4
4.4
2.2
44.0
40.7 36.8
=  43.3
44.3
i  43.3
i [39.1
] 46.3
- ]33
15 141.8
46.3 ﬁgo-“ o
34.8
= O
Elﬂ-g N=115
i —130.4
13.9 34.8 0 25 50 (1)
1




70.9 6.0
5.5
m O O m m
9.3 -
11.9
N=g7 | 119 67.2 134 60|15
! I
N=115 2.6. 730 174 I5.2 17
I 1 1 1 1 ]
0% 20% 40% 60% 80% 100%




(N=53)

64.2

52.8

41.5
(%)

(N=53)
47.2

41.5

37.7

(%)

3.8%

9.4%







